Subject: Re: FITS 10 Problem
Posted by wlandsman on Mon, 21 Jun 2010 13:50:36 GMT

View Forum Message <> Reply to Message

Marc,

In my April post, | was referring to the bug (ID: 2982679) that
you evidently fixed on 10-04-10

http://sourceforge.net/tracker/?func=detail&aid=2982679& amp;group_id=97659&atid=618683
Thanks for your work on GDL! --Wayne

On Jun 21, 4:59 am, "m_schell...@sf.net" <mschell...@gmail.com> wrote:
> On 24 Apr., 18:09, wlandsman <wlands...@gmail.com> wrote:

>
>> You wouldn't be usingGDL(the free IDL clone) rather than IDL, would
>> you? | recently discovered thatGDLhas a slightly different

>> treatment of nested loops than IDL, that led to disastrous
>> consequences for a different set of FITS 1/O routines. --Wayne

| just stumbled over this statement now.

| am not aware of any different handling of nested loops.

Could you post an example showing the different behaviour of GDL?
The actual tarball is 0.9rc4

( http://sourceforge.net/projects/gnudatalanguage/files/gdl/0. 9rc4/
gdl-0.9rc4.tar.gz/download)

This version already contains a corrected handling of GOTO in and out
of loops.

Regards,
Marc
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